° Work out the missing digits.

a) (9]
0[315 Jl 6189
APRIEY G 3|8 20¢%|%7
14 1.4
28(28(28|28(28 0.28 | 0.28 | 0.28 | 0.28 | 0.28 b) d)
092|544 0.9 2 3
a) Write the division represented by each bar model. 6|59 2, 6 5 s5[13] 13
wu=5:=2-%¥ Lu=S =028
b) What is the same and what is different about the bar models and the
divisions that they represent? 0 Explain the mistake that has been made in this short division.
Discuss with a partner. O
1 2 06
0 Complete the divisions. 3 \ q 6 4 48
)
b | |Lté
3/4/'3 '8 3/4/'3:'8 _ Tre deaimal goint (s olianed
b)
EIG Ol7ls ° Work out the divisions.
35 R 15 2
2|37 75 231775 a) 0.738+6=| O-12% b) 708 +3=| 0 -3(
)
olulyl olutull
411'7 '6 | 4 411/'7:6 4
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3
o 714:6=| |-19 e) 813.6+9-= QO.L; ° F|nd80f9.2kg.

305 kg

o A shape is made up of a regular octagon and a regular pentagon.

The octagon has a perimeter of 29.76 m.

d) 823:5=| |-LLE f) 1095:6=|19.25

Find the perimeter of the whole shape.

perimeter = LO-9D |m

. 0 32 children are going on a school trip to a theme park.
0 Work out the divisions.

The total cost of the tickets is £360
a) 2288 +16=| [ 2 €) 64092 +42=| 15-24 The coach hire costs £175

b) 130.15+ 25 = .
) S5-206 How much should each child pay to go on the trip?

Show your full method.

° Solve the equations.

a) 4f=13.2 b) 5v=21.24

£ |¢-72 |perchild

f=| 22 v=| L2uLg
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